Berdkna procentsatser i decimaler

6, 03 x 60% =

6, 04 x 40% =

1,24 x20% =

5,77 x50% =

9,76 x 40% =

9,17 x30% =

7,56 x 20% =

8,53 x 80% =

3,12 x40% =

7,88 x 50% =

Datum: Poéng:

3,64 x 60% =

0,17 x 50% =

8,49 x 50% =

4,46 x 80% =

0, 11 x 50% =

1,14 x 10% =

5,28 x 60% =

5,12 x30% =

6,93 x70% =

1,4 x20% =
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Berékna procentsatser i decimaler

namn:

6,03 x 60% = 3.618

6,04 x 40% = 2.416

1,24 x20% = 0.248

5,77 x50% = 2.885

9,76 x 40% = 3.904

9,17 x30% = 2.751

7,56 x20% = 1.512

8,53 x 80% = 6.824

3,12 x40% = 1.248

7,88 x 50% = 3.94

Datum:

3,64 x 60% = 2.184

0, 17 x 50% = 0.085

8,49 x 50% = 4.245

4,46 x 80% = 3.568

0, 11 x 50% = 0.055

1,14 x 10% = 0.114

5,28 x 60% = 3.168

5,12 x30% = 1.536

6,93 x 70% = 4.851

1,4 x20% = 0.28
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Poéng:
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